Axor Citterio
Wall bar / Barre murale / Barra mural

04/03 -01/06

>01/06

> 07/05

27981XX0

2783 1XX1

39525XX0

12

Pos. Description Description Denominacién Nr./Nr./N°
1 mounting set set de fixation Set de fijacién 40916000
2 support, assy curseur complet Cursor completo 96505XX0
8 support element support Soporte 97597000
4 hexagon socket screw M4x10 vis & téfe cylindrique M4x10 Tornillo de cabeza cilindrica 97661000
5 hollow set screw M6x6 vis M6x6 Tornillo manecilla Méx6 97660000
6 wall support fixation murale Soporte 97696XX0
7 handshower douchette Teleducha 38850XX1
8 shower hose Techniflex'B 63 flexible Techniflex'B 63” Flexo Techniflex'B 63" 28276XX0
9 filter packing (5 pieces) filtre Filtro 94246000
10 |escutcheon shower mixer rosace douche Embellecedor mezclador ducha 97716XX0
11 seal joint Junta 97530000
12 |shower holder, assy support douchette Soporte para teleducha 97705XX0
XX = Please see page 12.1 for finish ®
XX = Description des codes couleur page 12.1 A )( O R ]1032'(:)3(}7

XX = Para el cédigo de acabados ver pégina 12.1

hansarohe



